o|A}E y = a(x + p)2 + ¢ & 2T} oS 1A} TS o), A
a, p, q ° & apq © & ool




ol

‘o]
Nl

shelat.

?‘

el
o
or
!
Hr

.

ul



Zo|tt,

y=x>4+ax+b 29 17




S = 3v+ 1] TR x | gho] Z7he ), y <]
& 191 28] WIS ol

D x>1 2 x>2 B x>3

@ x<?2 B x<1



OV AR y =~ x® + ke + 4.9 LRI} (4,-2) & Ak, o] 1)
ol x o] go] Z74E W, y €] Gt F7Foe W FohE x <
olt}. o] 1, a o] & otelat,

& e
c



1
= —sz +

y
#ol S7kstd y o g
y 9l gkol #Aadth

1 —
5mx—|—2m—1 O] o x <1 ¥ W= x 9

Z7481i, x> 1 2 o x 9] 7o) kel
o] o]|x}gt40] EAI A o] I HEE L5l ),



o|ZF S y = 2x% + dx + k &) LI} x FHI

e HollA whdehal



Ady=x+m I Z=Hy=x"+3x+3 °]
[e)

o



9. oAy =22 -2x+k-19 DI} x 23} F Hof|A] T}
917tk ©f gLe] HeE Fotoiet.

B
=¥



® A1, 2, 3, 4 AF



A7

Mo

ORI y = 222~ dx+3 9] TP hT oS MY F &

<

TR 2EE (2, 1) ofth

RE x9 gl Histe] y ol gl M ele y < 1°]th

y %90 Tl Tme] Ay = 2~ 4x 45 oIk,
x7h 57k oy 7F aste x o M9lE x <1 ol

Sho] Ol A, 2, 3 AFEHS AUt

© ® ©@ 0 ©



© 2 © 3

@1




13.

@ x<19 W, x o] Fo] F7tst = Z71shh
® y=3x2-6x+ 12 T} x Zo th5}te] Aot

r_EL
L



14. oA y = —2x2 - 3x + 1 9] T L&} x Zof tiste] el 1)
o] A& ool

1=

n

b

5]

18




o]
Oly=ax®+bx+c €M, a+b+c 2 F2?

0B 4

® -39

D -16



D y=3x2+1

@ y=-3x>+4
9x% -1

®y= 3

@ y=-3(x+1)?

~1)(x+1)
® y=x2-bx+2+2(x-1)(x



17.

T moA R B2 e

oL onr
At
D y=-2x-1) Oy=-(x-22%+1
1
@y=—§x2 ® y=3x2-2
©y=2¢ ®y=-2*+1
cCt

™
=



18. b o|Atgise] Te|m 3 mopo] ofdlz ERahEA Ho] /1 We

AL
@ y=-3x° @ y=x*-3

1 3
®y=—§x2—1 @y:i(_x_3>2

® y=5x24+2x+3



19. ];(]-OL_’_y—_x2+x+694 JEHELJ]' E]'% j—la]:qu' 22 [qL AABC
of ol Tstol.

yl\

C
A B,
o V7



=

X2 —x+39 13

1

2

20. o2 S olASy



a]a

~20x + 19 o] Tz} x Z3}e] W
atolat,



